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MC/Data

CMS, 13 TeV, AKS jets, central dijet region, 88 < pj;t < 120 GeV

—+— Data
—— Pythia 8 [MODE=DIJET]]
— Pythia 8 (vincia) [MODE=D
—— Sherpa 2 (cluster) [MODE-=]

Sherpa 2 (lund) [MODE=DI

Herwig AO [MODE=DIET
~ Herwig DS [MODE=DIJET]

N
&

N

Juy
ul

0.5 |=s
0 EHHHHHHHHHHHHHHHH T A T e
1.4 E- =
13 £ =
1.2 E- T T T T T T T T T T T =
1.1 B [ p—— E
1 B4 o o b4 % =
0.9 = et - : =
08 E- =
07 B= =
8:?;\\\ \\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\E

(6} 1

01 02 03 04 05 o6 O7 08 09
groomed LHA (charged-only)



